4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)]

1L EMa{fEaREENAREEETAMMmMI -

2. EMEAFFEMT - AITRFRAETH -

3. RTEMMRETESKEAEE -

4. FTHEMEBEAZNNE - BRARSELDHE . HBEAESR—MAHEIGZR
At -

(% 50
Back Mounting

i
s

A —~ 1

@E
e
@D
DA

. y G

, - £ FosN s Hf?f’??-* !
[ . L = = - 1

I.“' “w. “-\..I_.-f" F i

) g ] b

EIHI-?-EIHJ 2=30° -{5:.-_' B IR ELD
SIK-16=15" ' Front Mounting

BE{i : mm
BF A B oD EF G0 H UKL evhe MU e BRNLE R e
(gt - m) (rpm) g )
SIK-7 192 765 155 172 58 55 3-M10/3-M10x80 B2 28 42 11 11.0 2500 2000 141 0.06 8-180 / &62-G170
SIK-9 232 84 190 210 70 6 3-M12/3-M12x90 96 32 51.2 12 15.0 3000 2000 222 0.6 ©@11-0220/070-0210
SIK-12 310 96 260 285 105 7 3-M2/3-M12x110 1145 40 56.8 14 21.0 4200 1800 45 0.58 ©15-0300/290-0290

SIK-16 405 122 345 375 160 8.7 — /6-M14x130 1486 50 76.1 15 29.0 4500 1500 108 1.72 (©30-©380/0©110-0360



